Math 133 - Quiz 0
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. Va2 +b®=a+b, for all a,b.
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. a;rb:a, for all @ and b.

. V0 is not defined.
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4. 2z +y =2(x 4+ y), for all z and y.
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. If 22 = 4, then = = 2.
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: VA = +2.
7. (a — b)2 = a® — b2, for all a and b.
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. %:b—i—l, for all a and b.
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. Va2 =z, for all z.
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. Ve +y=+x+/y, forall x and y.
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13. Evaluate the followings:
sin(0)
cos(0)
log1

In(1)



14. Find an equation of the line joining (2,1) and (3,2)7
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15. If f(z) = ] what is the inverse function f~!(z)?
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16. Draw the graph of the function f(z) = +3
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17. Find all the roots of sin(—)
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